OUTRIDE
THE

ORDINARY

INSTALLATION GUIDE

PART

FOQOT PEGS

SKU

50022

COLOUR

BLACK

WEIGHT

0.295 KG

(@coastcycles
http:/ /coastcycles.com




1 INSTALLATION GUIDE CONTENT PAGE

CONTENT PAGE

REQUIRED TOOLS 2
BOX CONTENTS 3
INSTALLATION PROCEDURE 4

COMBATIBLE WITH

BUZZRAW CLASSIC BUZZRAW PRO BUZZRAW X BUZZRAW SL

COASTCYCLES



2 INSTALLATION GUIDE REQUIRED TOOLS

REQUIRED TOOLS

TOOLS

8mm Hex Bit Socket Wrench - Long reach
Torque Wrench

Medium Strength Thread Locker

(Loctite 243 or equivalent)

COASTCYCLES



INSTALLATION GUIDE

BOX CONTENTS

BOX CONTENTS

Foot Pegs - 2 pcs
M10 x 30 mm Allen Head Bolt - 2 pcs
M10 Washer - 2 pcs

COASTCYCLES

(Fig. 1) Foot Pegs and the appropriate hardware.



4 INSTALLATION GUIDE INSTALLATION PROCEDURE

INSTALLATION
PROCEDURE

Place one M10 washer on one of the M10 x 30mm
bolts. (Fig. 2)

Apply the medium strength threadlocker as per the
manufacturer's instructions to the M10 x 30mm bolts.
(Fig. 3)

(Fig. 3) Apply the medium strength threadlocker as per the
manufacturer’s instructions.

Locate the peg mount you wish to use. Either on the
front fork or on the rear dropouts. (Fig. 4 & 5)

(Fig. 4) Front mounting point. (Fig.5) Rear mounting point.

COASTCYCLES



INSTALLATION GUIDE

INSTALLATION PROCEDURE

Insert the bolt through the foot peg. (Fig. 6)

Use an 8mm hex wrench and thread the bolt into the
mounting point and tighten to 24Nm. (Fig. 7)

Do the same for the other side. (Fig. 8)

COASTCYCLES

(Fig. 6) Insert the bolt into the foot peg and thread the bolt into
the mounting point.

(Fig. 8) Non-drive side view.

(Fig. 7) Tighten the bolt to 24Nm.



6 INSTALLATION GUIDE INSTALLATION PROCEDURE

Installation is complete. (Fig. 9)

(Fig. 9) Completed Installation.

COASTCYCLES



INSTALLATION GUIDE

CONTACT

For further enquires, please contact us at
enquires@coastcycles.com

Design Office

54 Siglap Drive.

Singapore 456176
(65) 66816681

Head Office
Vijzelgracht 7, 1017 HM
Amsterdam, Netherlands

(31) 20 716 3925

COASTCYCLES



COASTCYCLES



